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1
Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).

a) 83 — 7. 83 =% 80 — 76 b) 33 —7: 33 =230 =% 26
¢) 43— 6: 43 =3 40 =2 37 d) 48 +3: 48 12 50 1L 51
)83—9: 83 =280 -% 74 H22-8 22-%20-%14
)16+ 8: 16 25 20 14 24 L) 36 +7: 36 =5 40 =3 43
) 63+8: 631570 5 71 )45+ 7 45 2% 50 12 52

2)

Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers.

)13 +8 13 2520 15 21 b) 76 +8: 76+ 80 1% 84
) 82+9: 82590 L 91 d)24+7 2455302 31
) 77+ 5: 77 280 12 82 £)16+8: 16 1% 20 14 24
g) 29 +8: 29 *L 30 5 37 W17+ 7 17 225 20 T4 24
) 26+8: 26 1% 30 1 34 i) 84+8 84 1% 90 1% 92

Calculate the result by splitting the second number. Jump to the next multiple of ten
first. Fill in the missing numbers as shown in example a).

)33 —8: 33 =230 =25 b) 38 —9: 38 =% 30 =% 29
)75 — 8 75 =% 70 =2 67 d) 67 —9: 67 — 60 =2 58

e) 55— 7 55 =% 50 =2 48 £) 86 — 8 86 —% 80 =% 78

)25 —8 25520517  h)37-9 37 530228

)26 —8: 26520318 H12—3 1231059

4)

Calculate the result by splitting the second number. Jump to the next multiple of ten

first. Fill in the missing numbers as shown in example a).

a) 64+ 8 64 1% 70 12 72 b) 36 +9: 36 % 40 12 45
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Solutions to smp-4896-1/DFUE

d)92 -9 92 =390 =5 83
£) 6547 65 1% 70 12 72
h) 95 —7: 95 =2 90 —2 88
)55 — 7 55 =% 50 —> 48

¢)26—8: 26 =520 =2 18
e) 7T3+9: 73 15 80 12 82
g) 164+ 8: 16 2 20 14 24
)23 -7 23 =% 20 =2 16

Good Luck!
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